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Question No. 1

T FEAT A T 7T e FY TG TgR R § QU HM? 48 1 122 :: 168 : ?
A)288 B)286
C)284 D)290

Which number will best complete the relationship given below? 48 : 122 :: 168 : ?

A)288 B)286
C)284 D)290
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 1) (objection.aspx?qwr=3410133131&qwer=1)

Question No. 2

Rt & & NF-U1ad HET & U QSIS # a-gidar REAr 15 §1 39 FEAT Fr 40 AR v §?
A)136 B)105
C)84 D)72

Two-fifths of one-third of three-sevenths of a number is 15. What is 40 per cent of that number?

A)136 B)105
C)84 D)72
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 2) (objection.aspx?qwr=3410133131&qwer=2)

Question No. 3
TS AT o 5600 T 5% Ui af & suIsr i a¥ & AT Ul 6 A F 96 I 3200 I AFHT AT
AR T o= A B 3TN 12 AT F aE FApen 3§ AT F T F Fhce A Re?
A)%.2000 B)%.200
C)%.2400 D)%.400

A man deposits Rs.5600 in a bank at the rate of 5% per annum Simple Interest. He withdraws Rs.3200 after 6
months and the remaining after 12 months. What amount does he get as interest?
A)Rs.2000 B)Rs.200
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C)Rs.2400 D)Rs.400
Answer Key: B Your Response : Not Answered Raise Objection(Question No. 3) (objection.aspx?qwr=3410133131&qwer=3)

Question No. 4

A |18 B. |21
C. |24 D. |27

How many triangles are there in the given figure?
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Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3410133131&qwer=4)

Question No. 5

ﬁmﬂ,m@mm@rgﬁaﬂamﬁ#ﬁmem#pﬂm
A) T B)daT
C)aTs# R D)o@

From which of the following cities did the Chikankari, work of embroidery originate?

A)Ludhiana B)Chamba
C)Barmer D)Lucknow
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 5) (objection.aspx?qwr=3410133131&qwer=5)

Question No. 6

T Bl fFaT 5.9 Ui fhell T aX ¥ 39T A=ar § 3R 37 TFR 3§ 20% Fr g @i ¥ 5% F AT FA
F fav 3% ufa e v fAa W T ser afge?

A)E.12 B)%.12.25

C)%.12.31 D)%.11.81

A fruit seller sells mangoes at the rate of Rs.9 per kg and thereby loses 20%. At what price per kg, should he
have sold them to make a profit of 5%?

A)Rs.12 B)Rs.12.25
C)Rs.12.31 D)Rs.11.81
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 6) (objection.aspx?qwr=3410133131&qwer=6)

Question No. 7
AT & A i ghr ¥ Tl FS erdr ar Fa ¢ §2
A)ARET &Y B) IR githr
C)aferT ameft aves &y D)SiFs o3 &9

Which among the following is NOT a trophy or cup related to Hockey?

A)Narang Cup B)Gurmeet Trophy
C)Indira Gandhi Gold Cup D)Bombay Gold Cup
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 7) (objection.aspx?qwr=3410133131&qwer=7)

Question No. 8
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.1 1 1 1
- + + +
"1.23 234 345 456

GET IT ON

Google Play

A 7/30 B. 11/30
C. 13/30 D. 17/30
. . 1 1 1 1
Simplify: + + +
implify 1.23 234 345 456
A T/30 B. 11/30
C. 13/30 D. 17/30

Answer Key : A Your Response : B (Wrong)

9t &7 pH AT RT §?

Raise Objection(Question No. 8) (objection.aspx?qwr=3410133131&qwer=8)

Question No. 9
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A7 B)5
C)6 D)8

What is the pH value of water?

A)7 B)5
C)6 D)8
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 9) (objection.aspx?qwr=3410133131&qwer=9)

Question No. 10
TF FR A WAR & TF 6 F ag 2 fredicyder 9 ol §1 3PR 98 0F 8¢ 7 a7 @ 75 gff 35
frailefier o, ar 12 et & a7 $r 71§ Fer gt frcer A2
A)482 foratt B)456 sy
C)556 fereT D)552 fohaT

The speed of a car increases by 2 km/hr after every one hour. If the distance travelled in the first one hour
was 35 km, what was the total distance travelled in 12 hours?

A)482 km B)456 km
C)556 km D)552 km
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 10) (objection.aspx?qwr=3410133131&gwer=10)

Question No. 11

I WUROT sAreT W eIy 6 asf ¥ goreh & Sieh §, O T® AT A 4 T[T g S
A)16 a¥ B)14 a¥
C)18 a¥ D)12 a¥

If a sum of money at Simple Interest doubles in 6 years, it will become 4 times in:

A)16 years B)14 years
C)18 years D)12 years
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3410133131&qwer=11)

Question No. 12
HleTr T A T T HeY FT FoH dg¥ dF F QU HEM? 7 : 350 2 8 : 2
A)520 B)560
C)620 D)545

Which number will best complete the relationship given below? 7 : 350 :: 8 : ?

A)520 B)560

C)620 D)545

Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3410133131&qwer=12)
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Question No. 13
faf@d Seelr # aausiEE 98 3R AT Ru e ma sT 3R gl @@ dva H, B, C, D, E, F 3Rk G
F W ¢ S IR, R HfOEd, IT HREd, cHAaer e, FoF, wRaw FRERr AR A RAeews F
T AIP-L M,N,P,QRIRSFRAvFA T, T s s FsA A e A AT I CIF N &
MU FH RA N AN T AT RITFEATT F Fah I E & IT 3N 3R dF R § e
1 FAT &1 H R A & &9 & & o ¢ AR & L ar Q & e F&7 g w@r g s
INFN T @ IF M & T FH Far &1 st 5 L & F5 a1 ¢ 98 v < 3T &1 F, 6 Q & e
HH T gl G, 6 P & AT v My farews & dlv @ 07 #ar g1 D, F iy ¢t &) 3@ =afFa &
R R § ST dF S F AT FEH AT §?
A)efiaa 3 B)& iRy
C)Fersh D)wReFH iy

Read the following information carefully and answer the question given below. A group of seven friends H, B,
C, D, E, F and G work as economist, agriculture officer, IT officer, terminal operator, clerk, forex officer and
research analyst, for banks—L, M, N, P, Q, R and S, but not necessarily in the same order. C works for Bank
N and is neither a research analyst nor a clerk. E is an IT officer and works for Bank R. H works as forex
officer and does not work for Bank L or Q. The one who is an agriculture officer works for Bank M. The one
who works for Bank L works as a terminal operator. F works for Bank Q. G works for Bank P as a research
analyst. D is not an agriculture officer. What is the profession of the person who works for Bank S?

A)Terminal operator B)Agriculture officer
C)Clerk D)Forex officer
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 13) (objection.aspx?qwr=3410133131&qwer=13)

Question No. 14
%2430 & TR Fr A, B 3R C & g 39 vor snfoa BFar sar &, & afg 39 ‘e 7 & e 3.5,
%10 3R %.15 F7 W RBU It &, o Aw TR 3: 4: 5 F eqara # gl B 1 fwwr 79 Afow?
A)%.90 B)%.810
C)%.800 D)%.605

An amount of Rs.2430 is divided among A, B and C such that if their shares are reduced by Rs.5, Rs.10 and
Rs.15 respectively, the remainders shall be in the ratio of 3 : 4 : 5. Find the share of B.

A)Rs.90 B)Rs.810
C)Rs.800 D)Rs.605
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 14) (objection.aspx?qwr=3410133131&qwer=14)

Question No. 15
e g Ffaf@a F ¥ fFe Qo ¥ g6t &7
A)F &g B)eRTehr
C)ae diec D)gsHanry
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With which of the following sports is Sajan Prakash associated?

A)High jump
C)Pole Vault

Answer Key : B Your Response : B (Correct)

GET IT ON
Google Play

B)Swimming

D)Horse riding

Question No. 16

fawedt # @ 37 sl g S A= e v Yo F T =S

T [ AT 2

'
A. ‘\ B.
C. D.

Raise Objection(Question No. 15) (objection.aspx?qwr=3410133131&qwer=15)
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Choose from the alternatives the figure that best completes the
pattern given below.

v

H

Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 16) (objection.aspx?qwr=3410133131&qwer=16)

Question No. 17
& fFAe 50 YR & S dar § 6 diFaat sl wOslt o der @A @ 3l Y Se arer st A Fo
TEAT 1024 &, o dfFadl Fr e A Hifw)
A)38 B)28
C)32 D)22

A farmer plants seeds such that there are equal number of rows and columns. If the total number of seeds to
be planted are 1024, then find the number of rows.

A)38 B)28
C)32 D)22
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 17) (objection.aspx?qwr=3410133131&qwer=17)

Question No. 18
el garT Pfaf@a # & fFa o & T | aifsa fr a1 4R
A)gor B) eI
C)&eTshcdl D)ses

In which of the following cities was Satyagraha Sabha formed by Gandhi?
A)Pune B)Gujarat
C)Calcutta D)Bombay
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Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 18) (objection.aspx?qwr=3410133131&gwer=18)

Question No. 19
iy ar st el HEar & FRr: 20% AR 50% M §| qEd HEAr @ R gfoRa ugen HEAr 87
A)80% B)10%
C)20% D)50%

Two numbers are respectively 20% and 50% more than the third number. What percentage of the second
number is the first number?

A)80% B)10%
C)20% D)50%
Answer Key : A Your Response : C (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3410133131&gwer=19)

Question No. 20
G.VK. 1T afafa R=fef@ad # & Faw wdfta 82
A)HfgeT 3SR B) A=A
C)uarIdT TSt (v T T TAcheIehioT) D)aTel &egToT

With which of the following is the G.V.K. Rao Committee associated?

A)Women rights B)Human rights
C)Panchayati raj (Democratic decentralization) D)Child welfare
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3410133131&qwer=20)

Question No. 21

AR AT T HITAT ITedS FRATAT 7 Fedt & PR W Ffoaer Famar 2

A)3iTeie 25 B) 3o 26
C)3rIede 24 D)3iede 27

Which Article of Indian Constitution prohibits the employment of children in factories?

A)Article 25 B)Article 26
C)Article 24 D)Article 27
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 21) (objection.aspx?qwr=3410133131&qwer=21)

Question No. 22

AT & FAAT TSI PlsT §2
AT & PE BT A8 B) Aot AR
C)Icafalr fasmaarash D)ARTer =T

Who is the present President of Sri Lanka?
A)None of the options B)Chandrika Kumaratunga
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C)Ratnasiri Wickramanayake D)Maithripala Sirisena
Answer Key:D  Your Response : B (Wrong) Raise Objection(Question No. 22) (objection.aspx?qwr=3410133131&qwer=22)

Question No. 23
50 s1aet @ 1911 #F fher Sifst fr IR IET A IR AT F AR W Fr=w = a2
A)gfsar e B)Irsgufa Ha=T
C)dea 3itw sf3ar D)faFeIRar amRaer

Which structure was constructed to commemorate the visit of King George to India in 1911 ?

A)lndia Gate B)Rashtrapati Bhawan
C)Gateway of India D)Victoria Memorial
Answer Key: C  Your Response : D (Wrong) Raise Objection(Question No. 23) (objection.aspx?qwr=3410133131&qwer=23)

Question No. 24
Ife ¥, 340 #r gorewr F Rl aRg F T 350 F AN W 5% SAGT W e e ¢, A IR F AW o

qar H<|
A)%.160 B)%.50
C)%.225 D)%.200

If 5% more is gained by selling an article for Rs.350 than by selling it for Rs.340, find the cost of the article.

A)Rs.160 B)Rs.50
C)Rs.225 D)Rs.200
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 24) (objection.aspx?qwr=3410133131&qwer=24)

Question No. 25

TSI # Tegufad AT T Aded § & I F7 Ot EaRT TTT S T@T &l
A)IAS AHTHRY B)dey Irsgufa gant
C)UST &l IT=I4Tdd D)Irsgafd gany aAtfad w

The President's rule in a state means that the state is ruled by-

A)IAS officers B)The President directly
C)The Governor of the state D)The Chief Minister nominated by the President
Answer Key:C  Your Response : C (Correct) Raise Objection(Question No. 25) (objection.aspx?qwr=3410133131&qwer=25)

Question No. 26
PfRf@d ey #F EueET ¥ 9§ 3R A Re v wa # 1 3caw &1 v 9Rar 7 oF 3w §- A, B, C,
D, E 3R FI B, C & 97 &, af¥=1 C, B #r #rar 18f §1 A 31k C v Rarfya sisr &1 E, C &7 @37 &1 #1 D,
A & gfr 81 F, A %7 BT &1$ §1 B, D ¥ ¥ wafda §?
A)TRRT 8778 B)sT$
C)far D)sget
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Read the following information carefully and answer the question given below. A family consists of six
members—A, B, C, D, E and F. B is the son of C, but C is not the mother of B. A and C are a married couple.
E is the elder brother of C. D is the daughter of A. F is the younger brother of A. How is B related to D?

A)Cousin
C)Father
Answer Key : B

Your Response : A (Wrong)

B)Brother
D)Sister
Raise Objection(Question No. 26) (objection.aspx?qwr=3410133131&gqwer=26)

Question No. 27

Tfef@a & ¥ sla ggar W 30 arer dgar SafEa ar?
A)sTH ¥ RS AheT 81
C) g e

B)HATSHheT ifoled
D)afrer 3mmeTEeier

Who among the following was the first person to land on the moon?

A)None of t

he options

C)Yuri Gagarin

Answer Key: D  Your Response : D (Correct)

B)Michael Collins
D)Neil Armstrong
Raise Objection(Question No. 27) (objection.aspx?qwr=3410133131&qwer=27)

Question No. 28

2l
<}
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Choose the alternative which closely resembles the paper fold of the

given figure.

GET IT ON

Google Play

Answer Key: A Your Response : A (Correct)

3T FT G|
A)EHKM
C)ADGJ

Find the ODD one out.
A)EHKM
C)ADGJ

Answer Key: A Your Response : A (Correct)

Raise Objection(Question No. 28) (objection.aspx?qwr=3410133131&qwer=28)

Question No. 29

B)MPSV
D)BEHK

B)MPSV
D)BEHK

Raise Objection(Question No. 29) (objection.aspx?qwr=3410133131&gwer=29)

Question No. 30
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4
(64)7 T HTF T 1)

GET IT ON
Google Play

1
A 8 B 6
! 1
C. |6z D. |_L
64 256
Find the value of (64)'%
1
A 8 B Ne
1 1
C. |6z D. |_L
64 256

Answer Key:D  Your Response : B (Wrong)

Raise Objection(Question No. 30) (objection.aspx?qwr=3410133131&gwer=30)

Question No. 31
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TF R FI F99 TF 9_ AT FIF 6T T "y Fr fF = 7

THIAT PIATI

9 A

A

1 @

® (O

(3)

/A
4) (6)

SICE=E=

)

(9)

GET IT ON
Google Play

A, 148 2,3,7:629,5

1,89 2,56; 3,47

C. .67 2889 3,4,5

[T W FIS w6l

Group the given figures into three classes using each figure only

once.

@/\

A

® (O

@8

u@%@

(8

(9)

A 1482376795

1,8,9; 2,5, 6; 3, 4,7

C. .67 289345

Mone ofthese

Answer Key : A Your Response : Not Answered

RYd Tqm)

Raise Objection(Question No. 31) (objection.aspx?qwr=3410133131&gqwer=31)

Question No. 32
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A)WR B)AJ

C)oP D)LI

Find the ODD one out.

A)WR B)AJ

C)OP D)LI

Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3410133131&qwer=32)

Question No. 33
600 BTt AT TF TeT A, TEA A M Y 12 a ¥ I R B 11 € ¥ AR T B v g 11
af o WY &, O T Wt A wEw W AR
A)250 B)450
C)350 D)150

In a school with 600 students, the average age of the boys is 12 years and that of the girls is 11 years. If the
average age of the school is 11 years 9 months, then find the number of girls in the school.

A)250 B)450
C)350 D)150
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3410133131&qwer=33)

Question No. 34

PR Seerr F FaueigEs 96 3 i Re v wa #1 3R &) 9w vaele - A, B, C, D 3R E @&
Fe R 0 g A wfawaet ¥ e o @ &1 W ofat F & = gedr S g7 F e wue Ak o g
GERT TUTT WIod el g1 o Fg A E fr Rufa ggelr 3R 5 g5 7 q@dr ¥ E & omar, A @ ¥ g
fFa § foraedr &l Fg 3R 3 e, F 7 v Fg & I ufa 81 C & 7w F sifaw we Wy R
3 g F wh Rl sudr s fr Rufa § 38 81 D &1 3= g F 3ifoe ¥ 81 C, D ¥ ofar ¥ 3R
el ofr =afda v Fg, &l 377 IR 5 g 7 F A F v & Ul 7 B 7@ @ T B W Rt
&G (3ryan) o g Irar S Fig 7 AT eRT-3reer 71 C F IR Fi7 F W wg A S T F /N
Y4

A)E B)A

C)B D)D
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Read the following information carefully and answer the question given below. Five athletes—A, B, C, D and
E participate in a long jump and high jump competition. The fourth tallest of all the five gets the third place in
high jump and second place in long jump. The position of E in long jump is first and second in high jump.
Other than E, A is the only person, whose position in both long jump and high jump are better than his
position in height. C is in the last position in long jump, and his position in high jump is better than his position
in height. D gets the last position in high jump. C is taller than D and no person has the same position in any
two of height, long jump and high jump. It is known that the position of all the persons in height (or) long jump
or high jump are all distinct. The position of C in high jump is equal to whose position in height?

A)E B)A
C)B D)D
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3410133131&qwer=34)

Question No. 35

ART H Ygell Yaauid Artelr g o
A)1951 - 1956 B)1950 - 1955
C)1947 - 1952 D)1949 - 1954

First Five Year Plan in India was from-

A)1951 - 1956 B)1950 - 1955
C)1947 - 1952 D)1949 - 1954
Answer Key : A Your Response : D (Wrong) Raise Objection(Question No. 35) (objection.aspx?qwr=3410133131&gwer=35)

Question No. 36

HlTr T A T T HYT HT FoH g ddF T QU HEM? 5:8 2 15: 2
A)20 B)18
C)21 D)17

Which number will best complete the relationship given below? 5:8:: 15: ?

A)20 B)18
C)21 D)17
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3410133131&qwer=36)

Question No. 37
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fafaf@a v & A goar A FEuEigEs 96 AR A RE v wa # ser &1 v dogex Rwor &g A
TF RNEF TeHT & & F RN AfFT F v @ smavas At & o€ § 3=hear savg & () 1 9w,
1993 & 23 ¥ 28 ¥ & A ¥ &l (i) F0T F AT NafAT F1 3P B (jii) FYeX VoeMIREAT Y MCA,
M.Tech., 31f& & F7 @ F7 60% Al ¥ W WATH B & (iv) FEAFR & FoT 50 3t F & 7 &
HH 25 3iF o gfl I A 3FAEER () ¥ (vi) aF T 3T AIES F G /A @ ar 3q aRss Sredr
WH & ¥ & fgaa far Smeem Bl W A F Siel seiicar ael Aeds @ qu wand g Rare (i)
¥, AfreT 38X 50% 3F wrea fRam @, o 3 S by Werw F ¥ F g Sneem| e 8 Awer #
STl 3P figaR |l ATYES G Faw/d g A () F, AfFT 1 99T, 1993 Fr 3uH 37 28 I§ & AfOw
3R 32 af & FA &, o 3 Fz F AF F W AT I FFAT § AR 3FAGER F Aol F B gIer w4
¥, @ 3@ v 31 & ®9 F AW ATl AN ¥ Foqex WEE F M.Sc. B 65% 3 F @ o B
39 FeR-faf¥ 31 s, 1965 ¥ 96 Row 4 9% & vF TE0 7 0F WA F T A F = W ¢
A)IFHIGAR &I AT ST g g & ¢ & qrd B)3FAIGaR T Ohel SffidN hehed! Wedd & & H
AT g
C)3er y9ared D)3FHIicar &7 add ass thahedl TEET & T H T
g1

Study the following information carefully and answer the question given below. The following are the
conditions for the requirement of person as faculty members in a computer education centre. The candidate
must: (i) Be in the range of 23 years to 28 years as on 1 November 1993. (ii) Have work experience or
programming experience. (iii) Have a postgraduate degree in computer application. i.e. MCA, M.Tech., etc.
with at least 60% of marks. (iv) Obtained at least 25 marks in the interview out of a total of 50 marks. In case
a candidate satisfies all the other criteria from (i) to (iv), he/she shall be appointed as a senior faculty member.
In case a candidate satisfies all the other criteria EXCEPT (jii), but has secured 50% marks, he/she should be
appointed as a junior faculty member. In case a candidate satisfies all the other criteria EXCEPT (i), but age is
more than 28 years and less than 32 years as on 1 November 1993, the case may be referred to the director
of the centre. If there is any loss of information in the candidate details, it should be treated as data
inadequate. Manisha has completed M.Sc. in computer science with 65% of marks. Her date of birth is 31
July, 1965. She has been working in an institution as a programmer for the last 4 years.

A)The candidate has to be referred to the director ofB)The candidate has to be appointed as junior faculty

the centre member
C)Data inadequate D)The candidate has to be appointed as senior faculty
member
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 37) (objection.aspx?qwr=3410133131&qwer=37)

Question No. 38

iy Rl dEur & Q-fAgs F ¥ 50 gerr S §, O 9RO 39 TE&AT F U dturd 3 40 & AT F |
IT ¥ 9% WEAT A 87

A)246 B)174

C)216 D)336
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If 50 is subtracted from two-thirds of a number, the result is equal to sum of 40 and one-fourth of that number.
What is the number?

A)246
C)216

Answer Key : C  Your Response : Not Answered

Question No. 39

39 fa%ed 1 =47 IS0 ST ATFT (X) FJ12 g0 &9 & dgd AdF: TH g

X)

&

Raise Objection(Question No. 38) (objection.aspx?qwr=3410133131&gwer=38)
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Choose the alternative figure which contains figure (X) as its part.

X)

g .
C. SQ D. @

Answer Key:C  Your Response : A (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3410133131&qwer=39)

Question No. 40

g $r 25 . o, 5 [ A 3R 1 . A AT A RO F GF TR I § g F ey Hr

a1 AT fifaw|
A)2.5 HEHEX B)4.5 HeHI
C)5 #éHRT D)3 HrHRY

A metal sheet 25 cm long, 5 cm broad and 1 cm thick is melted into a cube. Find the edge of the cube so

formed.

A)2.5 cm B)4.5 cm

C)5cm D)3 cm

Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 40) (objection.aspx?qwr=3410133131&qwer=40)
Question No. 41

areHEe e a4 F e Rya 87

A) AT B)&cTelsT

C)Trdr D)3 #=AT

Taj Mahal is on the banks of the river-
A)Gomti B)Sutlej
C)Ravi D)Yamuna
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Answer Key: D  Your Response : D (Correct) Raise Objection(Question No. 41) (objection.aspx?qwr=3410133131&qwer=41)

Question No. 42

39 & @ A Aa ST S 5 6 F 225 B fr gfr a7 w7
A)55 Trei/eer B)45 faafeer
C)65 fref/eer D)40 farafveer

Find the speed of a train which covers a distance of 225 km in 5 hours.

A)55 km/hr B)45 km/hr
C)65 km/hr D)40 km/hr
Answer Key : B Your Response : A (Wrong) Raise Objection(Question No. 42) (objection.aspx?qwr=3410133131&qwer=42)

Question No. 43
Hedidwa FT: 12,1212 + 17.0005 - 9.1102
A)20.0105 B)20.1015
C)20.0015 D)20.0115

Evaluate: 12.1212 + 17.0005 - 9.1102

A)20.0105 B)20.1015
C)20.0015 D)20.0115
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 43) (objection.aspx?qwr=3410133131&qwer=43)

Question No. 44

FfeaEad Ioa—w s & A=f@d # & Hlaar 1690 FoRd FT Ta &7
A)@TE dereel B)alis AT
C)dis sergler D)dTs Hlorarierd

Who among the following Governor Generals is associated with Subsidiary Alliance System?

A)Lord Wellesley B)Lord Mayo
C)Lord Dalhousie D)Lord Cornwallis
Answer Key: A Your Response : C (Wrong) Raise Objection(Question No. 44) (objection.aspx?qwr=3410133131&qwer=44)

Question No. 45
39 A #, & FYA ¢ OwSH A o frend e a1w §| a7 st ot S aifhed §9 @ 9@ 31f0F 397 8
FYT: FEAGT H Fad IS MAH HHAT U 7 §) AR AT F Fewr B o AT rE @ A B
s 1) e & AR BT e Wl ARt Ay marer ALY B NI) ¥ TRIF e Imare AL A 8, 356
RS #F AT € T I g
A)dhad fashy || 3ugea gl B)aT | 3R T & Il 3ugerd B
C)dae forseny | 3uged Bl D)fersshy | 3R I, 2kt 3uged &
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In this question, a statement is given followed by two conclusions. Choose the conclusion(s) that best fit(s)
logically. Statement: Only good singers are invited to the conference. No one without sweet voice is a singer.
Conclusion: I. All invited singers in the conference have sweet voice. Il. Those singers who do not have sweet
voice are not invited to the conference.

A)Only conclusion Il follows B)Neither conclusion | nor Il follows
C)Only conclusion | follows D)Both conclusions | and Il follow
Answer Key:D  Your Response : A (Wrong) Raise Objection(Question No. 45) (objection.aspx?qwr=3410133131&gwer=45)

Question No. 46

10 31X 60 & &g Rraeh TwAmit & 8 ¥ YU-YI HET W ST
A6 B)18
)9 D)2

How many numbers between 10 and 60 are exactly divisible by 8?

A)6 B)18
C)9 D)2
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 46) (objection.aspx?qwr=3410133131&qwer=46)

Question No. 47
0N, FAR AR RGT & v FYe T W o= o 3R 30 5, 6 3R 7 REt & fow sARaR w3er B
39T Pl THIAT $.24000 UT| FAR E@RT ST T 3§ AR FHT I T |
A)%.10000 B)%.6000
C).8000 D)%.10800

A computer was hired by Ganesh, Kumar and Siva, and they used it for 5, 6 and 7 days respectively. Its total
rent was Rs.24000. Find the amount paid by Kumar.

A)Rs.10000 B)Rs.6000
C)Rs.8000 D)Rs.10800
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 47) (objection.aspx?qwr=3410133131&qwer=47)

Question No. 48

RIS ATE Fiear Age RA=faf@a 7 & Fe aa § d&fta &2
A)Ieh B)TedT
C)frare D)grehr

Which of the following games is associated with Feroz Shah Kotla ground?

A)Golf B)Rugby
C)Cricket D)Hockey
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 48) (objection.aspx?qwr=3410133131&qwer=48)

Question No. 49
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R 3 Tgelr FSN HeT e IR §§ M2
A)1880 B)1601
C)1861 D)1542

When was the first paper currency introduced in India?

A)1880 B)1601
C)1861 D)1542
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 49) (objection.aspx?qwr=3410133131&qwer=49)

Question No. 50

o gt &1 ad 3.95 &1 30T ¥ o gt # ua 3.4 €, 3K 3w & gt # ttwa 3.85 #1 AW

Tt & "Eanit @ aa fraer &2
A)4.9 B)4.6
C)4.2 D)5.1

The average of six numbers is 3.95. The average of two of them is 3.4, and the average of the other two is
3.85. What is the average of the remaining two numbers?

A)4.9 B)4.6
C)4.2 D)5.1
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 50) (objection.aspx?qwr=3410133131&qwer=50)

Question No. 51
39 W &, OX FYA U av § 9% 9w de ewd Ru aw §) 3@ s @ g S arfde w0 & qe
39gFT §1 FYn: 1) W AW s §1 2) HS 5% ©igr A g1 3) Wl A3 B §1 4) Fo A3 Ew §) A L.
Tl S & Bl @l B TH T gl 1. T EF W N . B B W AL 8
A)ash fasehy grered R B B)dhad Ty Il 31X Il 9ot & &l
C)dae sy | 3R Il greled T | D)&ael fAshY | ureled aar &l

In this question, four statements are given followed by three conclusions. Choose the conclusion(s) which
best fit(s) logically. Statements: 1) All lions are ducks. 2) No duck is horse. 3) All horses are fruits. 4) Some
horses are tanks. Conclusions: I. All ducks being fruits is a possibility. Il. Some tanks are lions. lll. No fruit is

lion.

A)AIl conclusions follow B)Only conclusion Il and IlI follows

C)Only conclusion | and 11l follows D)Only conclusion | follows

Answer Key: D  Your Response : C (Wrong) Raise Objection(Question No. 51) (objection.aspx?qwr=3410133131&qwer=51)
Question No. 52

Tsgufa & dfg af & SRiEre $r 0T ¥ Fr S

A3 Toltd IROIA 3T & 30Ter et B)3® &t & O &t a8 HRIAR U801 X &

C)3a gelta gRome v fafy D)3d A & Ugel feod oI a8 UHR IGUT i &
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The five year term of the President is calculated from the-

A)Next day of his election result B)Day he assumes charge
C)Date of his election result D)First day of the month he assumes charge
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 52) (objection.aspx?qwr=3410133131&qwer=52)

Question No. 53

I Taed F1 =47 FE ST A ML S AT AT A= ATTEAT T FA AT g AR
ZY9 & XY % |1 7= ST 2|
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

NINZ s N7
- N7 » [N

Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 53) (objection.aspx?qwr=3410133131&qwer=53)

Question No. 54

fatafaaariemrsr s AR R rrsrsac
Fraforfaa oo 7 uw often § =g Se-aaw (a9 7 979 @00 197 979 Sl & g9
T AT 2

Freew o & w5 wEW oS BT A aftwan o g §

T 65 35 50 77 80

o

A 2 B. |3
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Study the following table and answer the question given below it.
The following table represents the percentage of marks obtained by seven
students in six different subjects in an examination.

The number in the brackets give the maximum marks in each subject

Subject (Maximum marks)

Student Maths Chemistry | Physics | Geography History C::‘::::r
(150) (130) (120) (100) (60) 40)
Arun 20 50 20 60 70 BO
Akash 100 80 80 40 20 T0
Ajay 90 60 T0 70 90 70
Balaji 80 65 80 80 60 60
Mohan 80 65 85 95 50 90
Ramesh 70 75 65 85 40 60
Surya 65 35 50 77 80 B8O

How many students obtained 50% and above marks in all the subjects?

A 2 B. 3
C 4 D. 5
Answer Key:C  Your Response : D (Wrong) Raise Objection(Question No. 54) (objection.aspx?qwr=3410133131&qwer=54)

Question No. 55

ARG & ST ART FT o] HAUSR' & AF & FY AT SAer 82

A)FR B) deaitaX
C)HarH D) faefRraeelr

Which of the following places is known as the ‘Granary of South India’?

A)Karur B)Thanjavur
C)Srirangam D)Tiruchirappalli
Answer Key: B  Your Response : D (Wrong) Raise Objection(Question No. 55) (objection.aspx?qwr=3410133131&gwer=55)

Question No. 56
Ifg ersg 'HORSE' # 'ESROH' & ®9 # Feag fFar Siram ¢, o asg 'TRAVEL' & AT &5 T g =nfee?
A)LEARTV B)LEVART
C)LEARVT D)VARTEL

If the word 'HORSE' is coded as 'ESROH', what should be the code for the word 'TRAVEL'?

A)LEARTV B)LEVART
C)LEARVT D)VARTEL
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 56) (objection.aspx?qwr=3410133131&gqwer=56)

Question No. 57
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WA A & 3TER F AT far 9= arer f{af@a ¢
A faerfdar D B)fdaif@s B
C)fgarfas C D)erf@a A

The vitamin given for the treatment of common cold is-

A)Vitamin D B)Vitamin B
C)Vitamin C D)Vitamin A
Answer Key: C  Your Response : A (Wrong) Raise Objection(Question No. 57) (objection.aspx?qwr=3410133131&gwer=57)

Question No. 58
& a1§ Aol F I FEAT T gar M| 8, 14, 26, 48, 98, 194, 386
A)48 B) 194
C)14 D)98

Find the wrong number in the given series. 8, 14, 26, 48, 98, 194, 386

A)48 B)194
C)14 D)98
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3410133131&qwer=58)

Question No. 59

Th TFY A IR FANT F §U, Tk Afgen A Fgl, "SHH Al, ] A A gepoiler & §1" Afem F 37 oW A

A&l B)ar/aATetr
C)dg=t D)scr

Pointing to a man, a woman said, "His mother is the only daughter of my mother." How is the woman related

to the man?

A)Mother B)Grandmother

C)Sister D)Daughter

Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 59) (objection.aspx?qwr=3410133131&gwer=59)

Question No. 60
AR ToT PR ST & arer w0 fhesr faatar af@eaa e §2
A)TcTSia X B)gzdRTST S qY
C)31ilsh FAR D)GTeT E1gs Hlech

The first film maker to receive the Bharat Ratna Award was-
A)Satyaijit Ray B)Prithviraj Kapoor
C)Ashok Kumar D)Dadasaheb Phalke
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